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EEHh an B #& 2 (Ba/ke)

NO HIERFTIR i ET 4 mBEA T VL134 | EVOL137 | £UILEE
1 ZHE 24yl Fpy <04 <0.5 0.9
2 FRiE R ENT ForoHA 0.3 <04 0.7
3 ZRE XEH 4 <41 <3.9 <8.0
4 =RE AXfMsHE™T YIhYF 0.7 0.7 <14
5 =RE XfMsHE™T a7t 0.6 0.7 <1.3
6 Z=RE XMsHE™T avy+ <0.6 0.8 <14
7 =RE = mARBA B &4 FyY 0.3 0.3 0.6
8 fRH#R — =Pl 0.2 0.3 0.5
9 MAER — =P 0.2 0.3 0.5
10 =RE = EF AR T AT X <3.1 <3.3 <6.4
11 B3 tET XAy 0.5 0.6 <1.1
12 IR =20 ] ARy 0.4 0.5 0.9
13 KBRAF tR™ TR <0.5 0.5 <1.0
14 LR RERER HAF/ N 0.5 0.6 <1.1
15 ZRE AXMsHE™T d—v— 0.4 <0.4 0.8
16 LimE A AR S ST Joyal)— 0.6 0.6 <1.2
17 deiEE ENERE) I ET = oy <04 <04 0.8
18 dLimE ENERE) I ET Hh)I57— <8.3 <8.5 <10.8
19 ZRE — AV 0.5 0.5 <1.0
20 =RE — Fal) 0.5 0.5 <1.0
21 RER — Fal) <04 <0.4 0.8
22 Lz 8 #ShE ™ IHTA 0.5 0.6 <11
23 FAR +FHE™ -z <0.5 0.5 <1.0
24 dbimE L NERERJIIET HRF¥ <0.4 0.5 0.9
25 RHR {EAT™ 1) 3 0.3 0.3 0.6
26 =RE RFNEBLLIT AR 0.4 0.7 0.7
27 ZRE A B AR T B ET 4 <04 <0.4 0.8
28 AR — mp <0.3 <04 0.7
29 RHER {EATH AEE 0.4 <0.5 <0.9
30 HEER BEi#Em =Vl s 0.6 0.6 <1.2
31 RHR EAT™ )3 0.5 0.5 <1.0
32 dbiEE — v HAE 0.5 0.5 <1.0
33 dbiEE — AIRY <04 <04 0.8




FEHD B #55R (Ba/ke)

NO #R1E T IR GiLIES) m B % I UL134 | EPOL137 | VLA
34 REHER — LAV FY <04 0.5 0.9
35 =EFR — =) <0.6 <0.5 <1.1
36 b3 R AR B HT AT 0.4 <0.4 0.8
37 dbimE A B AR B HT PaviEe= 0.5 0.5 <1.0
38 TR RefTH = 0.7 0.7 <1.4
39 FAR 7R % AR ik I T % | 0.5 0.5 <1.0
40 BRER I =P 0.6 1.2 1.8
41 Z=RE {ERr™ =P <04 <0.4 0.8
42 ZRE A6 = 34 AR 1 R BT =P 0.3 0.3 0.6
43 =2F58 — =P 0.6 1.0 1.6
44 FEE — =P <04 0.4 0.4
45 dtiEE — =Pl 0.3 0.3 0.6
46 =RE BT Y E <10.9 <12.5 <23.4
47 =RE A6 B 34 AR 1 [ BT Ny A <6.8 7.8 <14.6
48 =RE =52 N ) NgHA <6.5 <14 <13.9
49 =RE RFAEBLLTH Favl) <8.0 <9.2 <17.2
50 ZRE EERR Fpy <13 <8.4 <15.7
51 TR — INDYA <16 <8.7 <16.3
52 dbimE — AIRY <10.3 <11.8 <22.1
53 IR — N A 0.6 0.6 <1.2
54 =RE Btz ESLES) 7K 0.3 0.3 0.6
99 Z=RE BT I =D <84 <9.6 <18.0
56 =RE {E#IFr™ INyHA <10.3 <11.9 <22.2
57 =RE RFIEBLLTH P <15 <8.7 <16.2
58 =RE A B R BE MG HT h¥ <14 <8.6 <16.0
99 =RE E 3] INgYA <10.6 <12.2 <22.8
60 =RE AFMSHE™T 3+ <11.5 <13.3 <24.8
61 FER LLIECER =Ty <9.0 <10.1 <19.1
62 EHME HIR™ FoRy <8.2 9.2 <174
63 ZHE FHT 7% <6.1 <6.9 <13.0
64 IR — NyHA 9.7 <10.9 <20.6
65 B3 — FyRY <10.0 <11.2 <21.2
66 B3 — LykFrRy <10.5 <11.9 <224

<OIlF. O(Ba/kg) MRE TR THAHAE T, AR LY T LANRESNEN>=CEZERLTVETY,

B D LDEERE: — AR EB F (100Ba/ke). FLIR B f (50Ba/ke). 4% (50Bq/kg). BX%47K (10Bg/ke)




